APPLICABLE ANALYSIS AND DISCRETE MATHEMATICS, **1** (2007), 199–210. Available electronically at http://pefmath.etf.bg.ac.yu

Presented at the conference: *Topics in Mathematical Analysis and Graph Theory*, Belgrade, September 1–4, 2006.

ON ITERATIVE COMBINATION OF BERNSTEIN–DURRMEYER POLYNOMIALS

P. N. Agrawal, Asha Ram Gairola

The BERNSTEIN–DURRMEYER polynomials

$$M_n(f;t) = (n+1) \sum_{k=0}^n p_{n,k}(t) \int_0^1 p_{n,k}(u) f(u) \, \mathrm{d}u,$$

where $p_{n,k}(t) = \binom{n}{k} t^k (1-t)^{n-k}$, $0 \le t \le 1$, defined on $L_B[0,1]$, the space of bounded and integrable functions on [0,1] were introduced by DURRMEYER and extensively studied by DERRIENNIC and several other researchers. It turns out that the order of approximation by these operators is, at best $O(n^{-1})$, however smooth the function may be. In order to improve this rate of approximation we consider an iterative combination $T_{n,k}(f;t)$ of the operators $M_n(f;t)$. This technique of improving the rate of convergence was given by MICCHELLI who first used it to improve the order of approximation by BERNSTEIN polynomials $B_n(f;t)$. The object of this paper is to study direct theorems in ordinary as well as in simultaneous approximation by the operators $T_{n,k}(f;t)$. We prove that the order of approximation by these operators is $O(n^{-k})$ for sufficiently smooth functions.

1. INTRODUCTION

For $f \in L_B[0,1]$ the operators $M_n(f;t)$ can be expressed as

(1.1)
$$M_n(f;t) = \int_0^1 W_n(u,t)f(u) \, \mathrm{d}u,$$

²⁰⁰⁰ Mathematics Subject Classification. 41A40, 41A36.

Key Words and Phrases. Iterative combinations, ordinary approximation, simultaneous approximation, asymptotic formula and modulus of continuity.

where $W_n(u,t) = (n+1) \sum_{k=0}^n p_{n,k}(t) p_{n,k}(u)$ is the kernel of the operators.

For $m \in \mathbb{N}_0$ (the set of non-negative integers), the *m*-th order moment for the operators M_n is defined as

(1.2)
$$\mu_{n,m}(t) = M_n((u-t)^m; t).$$

The iterative combination $T_{n,k}: L_B[0,1] \to C^{\infty}[0,1]$ of the operators $M_n(f;t)$ is defined as

(1.3)
$$T_{n,k}(f;t) = (I - (I - M_n)^k)(f;t) = \sum_{r=1}^k (-1)^{r+1} {k \choose r} M_n^r(f;t), \quad k \in \mathbb{N},$$

where $M_n^0 = I$, and $M_n^r = M_n(M_n^{r-1})$ for $r \in \mathbb{N}$.

In Section 2 of this paper we give some definitions and auxiliary results which will be needed to prove the main results. In Section 3 first we establish a VORONOVSKAJA type asymptotic formula and then find the degree of approximation for functions of a given smoothness in ordinary approximation. Subsequently in Section 4 first we show that the operators $T_{n,k}$ possess simultaneous approximation property i.e. the property that the derivatives of the operators $T_{n,k}$ converge to the corresponding order derivatives of f(x) and then extend the results of Section 3 to the case of simultaneous approximation.

2. PRELIMINARIES

In the sequel we shall require the following results:

Lemma 1 [2]. For the function $\mu_{n,m}(t)$, we have $\mu_{n,0}(t) = 1$, $\mu_{n,1}(t) = \frac{1-2t}{n+2}$, and there holds the recurrence relation

$$(n+m+2)\mu_{n,m+1}(t) = t(1-t)(\mu'_{n,m}(t) + 2m\mu_{n,m-1}(t)) + (m+1)(1-2t)\mu_{n,m}(t), \quad for \ m \ge 1.$$

Consequently, we have

(i) $\mu_{n,m}(t)$ are polynomials in t of degree m;

(ii) for every $t \in [0,1]$, $\mu_{n,m}(t) = O\left(n^{-[(m+1)/2]}\right)$, where $[\beta]$ is the integer part of β .

The *m*-th order moment for the operator M_n^p is defined as

$$\mu_{n,m}^{[p]}(t) = M_n^p((u-t)^m; t)$$

 $p \in \mathbb{N}$ (the set of natural numbers). We denote $\mu_{n,m}^{[1]}(t)$ by $\mu_{n,m}(t)$.

Lemma 2 [7]. For the function $p_{n,k}(t)$, there holds the result

(2.1)
$$t^{r}(1-t)^{r}D^{r}p_{n,k}(t) = \sum_{\substack{2i+j \leq r\\i,j \geq 0}} n^{i}(k-nt)^{j}q_{i,j,r}(t)p_{n,k}(t),$$

where D^r stands for $\frac{d^r}{dt^r}$ and $q_{i,j,r}(t)$ are certain polynomials in t independent of n and k.

Lemma 3. There holds the recurrence relation

(2.2)
$$\mu_{n,m}^{[p+1]}(t) = \sum_{j=0}^{m} \sum_{i=0}^{m-j} {m \choose j} \frac{1}{i!} D^{i} \left(\mu_{n,m-j}^{[p]}(t) \right) \mu_{n,i+j}(t)$$

 $\mathbf{Proof.}$ We can write

(2.3)
$$\mu_{n,m}^{[p+1]}(t) = M_n^{p+1}((u-t)^m; t)$$
$$= M_n\Big(M_n^p\big((u-t)^m; x\big); t\Big) = M_n\Big(M_n^p\big((u-x+x-t)^m; x\big); t\Big)$$
$$= \sum_{j=0}^m {m \choose j} M_n\Big((x-t)^j M_n^p\big((u-x)^{m-j}; x\big); t\Big).$$

Since $M_n^p((u-x)^{m-j}; x)$ is a polynomial in x of degree m-j, by TAYLOR's expansion, we can write as

(2.4)
$$M_n^p((u-x)^{m-j};x) = \sum_{i=0}^{m-j} \frac{(x-t)^i}{i!} D^i(\mu_{n,m-j}^{[p]}(t)).$$

From (2.3) and (2.4) we get the required result.

Lemma 4. For $k, \ell \in \mathbb{N}$, there holds $T_{n,k}((u-t)^{\ell}; t) = O(n^{-k})$.

Proof. We apply induction on k. For k = 1, the result follows from Lemma 1. Assume that it is true for a certain k, then by the definition of $T_{n,k}$ we get

$$T_{n,k+1}((u-t)^{\ell};t) = \sum_{r=1}^{k+1} (-1)^{r+1} {\binom{k+1}{r}} M_n^r((u-t)^{\ell};t)$$

= $\sum_{r=1}^k (-1)^{r+1} {\binom{k}{r}} M_n^r((u-t)^{\ell};t)$
+ $\sum_{r=1}^{k+1} (-1)^{r+1} {\binom{k}{r-1}} M_n^r((u-t)^{\ell};t)$
= $I_1 + I_2$, say.

We can write I_1 as

(2.5)
$$I_1 = T_{n,k} ((u-t)^{\ell}; t).$$

Next, by Lemma 3

$$\begin{split} I_2 &= \sum_{r=0}^k (-1)^r \binom{k}{r} \mu_{n,\ell}^{[r+1]}(t) \\ &= \mu_{n,\ell}(t) - \sum_{j=1}^\ell \sum_{i=0}^{\ell-j} \binom{\ell}{j} \frac{1}{i!} \left(D^i T_{n,k} \left((u-t)^{\ell-j}; t \right) \right) \mu_{n,i+j}(t) \\ &\quad - \sum_{i=0}^\ell \frac{1}{i!} \left(D^i T_{n,k} \left((u-t)^\ell; t \right) \right) \mu_{n,i}(t) \\ &= \mu_{n,\ell}(t) - \sum_{j=1}^\ell \sum_{i=0}^{\ell-j} \binom{\ell}{j} \frac{1}{i!} \left(D^i T_{n,k} \left((u-t)^{\ell-j}; t \right) \right) \mu_{n,i+j}(t) \\ &\quad - \sum_{i=1}^\ell \frac{1}{i!} \left(D^i T_{n,k} \left((u-t)^\ell; t \right) \right) \mu_{n,i}(t) - T_{n,k} \left((u-t)^\ell; t \right), \end{split}$$

(2.6)
$$I_{2} = -\sum_{j=1}^{\ell-1} \sum_{i=0}^{\ell-j} {\ell \choose j} \frac{1}{i!} \left(D^{i} T_{n,k} \left((u-t)^{\ell-j}; t \right) \right) \mu_{n,i+j}(t) - \sum_{i=1}^{\ell} \frac{1}{i!} \left(D^{i} T_{n,k} \left((u-t)^{\ell}; t \right) \right) \mu_{n,i}(t) - T_{n,k} \left((u-t)^{\ell}; t \right)$$

From Lemma 1, (2.5) and (2.6) we get $T_{n,k+1}((u-t)^{\ell};t) = O(n^{-(k+1)})$. Thus, the result is proved for all $k \in \mathbb{N}$.

Lemma 5. For $p \in \mathbb{N}$, $m \in \mathbb{N}_0$ and $t \in [0, 1]$, we have

(2.7).
$$\mu_{n,m}^{[p]}(t) = O(n^{-[(m+1)/2]}).$$

Proof. For p = 1, the result follows from Lemma 1. Suppose (2.7) is true for a certain p. Then $\mu_{n,m-j}^{[p]}(t) = O(n^{-[(m-j+1)/2]}), 0 \le j \le m$. Also $\mu_{n,m-j}^{[p]}(t)$ is a polynomial in t of degree m - j, therefore, we have

$$D^{i}(\mu_{n,m-j}^{[p]}(t)) = O(n^{-[(m-j+1)/2]}) \ \forall \ 0 \le i \le m-j.$$

Now, applying Lemma 3,

$$\mu_{n,m}^{[p+1]}(t) = \sum_{j=0}^{m} \sum_{i=0}^{m-j} O\left(n^{-[(m-j+1)/2]}\right) \cdot O\left(n^{-[(i+j+1)/2]}\right) = O\left(n^{-[(m+1)/2]}\right).$$

Hence, the lemma is proved by induction on p.

3. ORDINARY APPROXIMATION

Theorem 1. (VORONOVSKAJA type asymptotic formula). Let $f \in L_B[0,1]$ admitting a derivative of order 2k at a point $t \in [0,1]$. Then

(3.1)
$$\lim_{n \to \infty} n^k (T_{n,k}(f;t) - f(t)) = \sum_{v=1}^{2k} \frac{f^{(v)}(t)}{v!} Q(v,k,t)$$

and

(3.2)
$$\lim_{n \to \infty} n^k (T_{n,k+1}(f;t) - f(t)) = 0,$$

where Q(v, k, t) are certain polynomials in t of degree v. Further, the limits in (3.1) and (3.2) hold uniformly in [0,1] if $f^{(2k)}(t)$ is continuous in [0,1].

Proof. Since $f^{(2k)}(t)$ exists, we can write an expansion of f as:

(3.3)
$$f(u) = \sum_{v=0}^{2k} \frac{f^{(v)}(t)}{v!} (u-t)^v + \varepsilon(u,t)(u-t)^{2k},$$

where $\varepsilon(u, t) \to 0$ as $u \to t$ and is bounded and integrable in [0, 1]. The proof is as follows: $2k t^{(i)}(t)$

Let
$$\varepsilon(u,t) = \frac{f(u) - \sum_{i=0}^{m} \frac{f^{(2)}(t)}{i!} (u-t)^i}{(u-t)^{2k}}$$
. Then,

$$\lim_{u \to t} \varepsilon(u,t) = \lim_{u \to t} \frac{f(u) - \left(f(t) + (u-t)f'(t) + \dots + \frac{(u-t)^{2k}}{(2k)!} f^{(2k)}(t)\right)}{(u-t)^{2k}}$$

$$= \lim_{u \to t} \frac{f^{(2k-1)}(u) - \left(f^{(2k-1)}(t) + (u-t)f^{(2k)}(t)\right)}{2k!(u-t)}$$
(applying L'HOSPITAL's rule successively $(2k-1)$ times)

$$= \frac{1}{2k!} \lim_{u \to t} \frac{f^{(2k-1)}(u) - f^{(2k-1)}(t)}{u-t} - \frac{f^{(2k)}(t)}{2k!}$$

$$= 0.$$

Operating by $T_{n,k}$ on both sides of (3.3) we get

$$n^{k} (T_{n,k}(f;t) - f(t)) = n^{k} \sum_{v=1}^{2k} \frac{f^{(v)}(t)}{v!} T_{n,k} ((u-t)^{v};t) + n^{k} T_{n,k} (\varepsilon(u,t)(u-t)^{2k};t).$$

= $I_{1} + I_{2}$, say.

Making use of Lemma 4, we obtain

$$I_1 = \sum_{v=1}^{2k} \frac{f^{(v)}(t)}{v!} Q(v, k, t) + o(1),$$

where Q(v, k, t) is the coefficient of n^{-k} in $T_{n,k}((u-t)^{v}; t)$.

Since $\varepsilon(u,t) \to 0$ as $u \to t$, for a given $\varepsilon' > 0$ we can find a $\delta > 0$ such that $|\varepsilon(u,t)| < \varepsilon'$ whenever $0 < |u-t| < \delta$ and for $|u-t| \ge \delta$, $|\varepsilon(u,t)| \le K$ for some K > 0. Suppose $\chi(u)$ is the characteristic function of the interval $(t - \delta, t + \delta)$, then

$$|I_{2}| = n^{k} \sum_{r=1}^{k} {\binom{k}{r}} M_{n}^{r} (|\varepsilon(u,t)|(u-t)^{2k} \chi(u);t) + n^{k} \sum_{r=1}^{k} {\binom{k}{r}} M_{n}^{r} (|\varepsilon(u,t)|(u-t)^{2k} (1-\chi(u));t) = I_{3} + I_{4}, \text{ say.}$$

In view of Lemma 5,

$$I_3 = \varepsilon' O(1).$$

Now, applying Lemma 5, we have for any integer s > k,

$$I_4 \le n^k \sum_{r=1}^k \binom{k}{r} M_n^r (K(u-t)^{2s} / \delta^{2s-2k}; t) = O(n^{k-s}) \text{ for any integer } s > k.$$

= $o(1).$

Due to arbitrariness of ε' it follows that $|I_2| = o(1)$.

Combining the estimates of I_1 and I_2 , we obtain (3.1). Similarly, the assertion (3.2) follows from the fact $T_{n,k+1}((u-t)^{\ell};t) = O(n^{-k-1})$ for all $\ell \in \mathbb{N}$.

The uniformity assertion follows dut to the uniform continuity of $f^{(2k)}$ on [0, 1] which enables δ to become independent of t and the uniformness of the term o(1) in the estimate of I_1 .

In our next result we obtain an estimate of the degree of approximation of a function with specified smoothness.

Theorem 2. Let $1 \le p \le 2k$ be an integer and $f^{(p)} \in C[0,1]$. Then, for sufficiently large n there holds

(3.4)
$$||T_{n,k}(f;t) - f(t)|| \le \max\{C_1 n^{-p/2} \omega(f^{(p)}; n^{-1/2}), C_2 n^{-k}\},\$$

where $C_1 = C_1(k, p), C_2 = C_2(k, p, f), \|\cdot\|$ is sup-norm on [0, 1] and $\omega(f^{(p)}; \delta)$ is the modulus of continuity of $f^{(p)}$ on [0, 1].

Proof. By TAYLOR's expansion, we can write

(3.5)
$$f(u) - f(t) = \sum_{i=1}^{p} \frac{f^{(i)}(t)}{i!} (u-t)^{i} + \frac{f^{(p)}(\xi) - f^{(p)}(t)}{p!} (u-t)^{p}$$

where ξ lies between u and t.

Operating by $T_{n,k}$ on both sides of (3.5) and breaking the right hand side into two parts I_1 and I_2 say, corresponding to two terms on the right hand side of (3.5), we get

$$T_{n,k}(f;t) - f(t) = I_1 + I_2$$
, say.

In view of Lemma 4,

$$I_1 = \sum_{i=1}^p \frac{f^{(i)}(t)}{i!} T_{n,k} ((u-t)^i; t) = O(n^{-k}), \text{ uniformly for every } t \in [0, 1].$$

Since $f^{(p)} \in C[0,1]$, we have

$$|f^{(p)}(\xi) - f^{(p)}(t)| \le \omega (f^{(p)}; |\xi - t|) \le (1 + |u - t|/\delta) \omega (f^{(p)}; \delta), \text{ for any } \delta > 0.$$

Hence, using SCHWARZ inequality and Lemma 5,

$$|I_2| \le \frac{\omega(f^{(p)};\delta)}{p!} \sum_{r=1}^k \binom{k}{r} M_n^r \Big(|(u-t)|^p \big(1+|u-t|/\delta\big);t \Big).$$

Choosing $\delta = n^{-1/2}$, we get

 $|I_2| \le \omega(f^{(p)}; n^{-1/2}) O(n^{-p/2})$, uniformly in [0, 1].

Combining the estimates of I_1 and I_2 , the theorem follows.

4. SIMULTANEOUS APPROXIMATION

In this section we discuss simultaneous approximation property of the operators $T_{n,k}$. First we prove that $T_{n,k}^{(p)}$ is an approximation process for $f^{(p)}$, $p = 1, 2, 3, \ldots$.

Theorem 3. Let $f \in L_B[0,1]$ admitting a derivative of order p at a fixed point $t \in (0,1)$. Then

(4.1)
$$\lim_{n \to \infty} T_{n,k}^{(p)}(f;t) = f^{(p)}(t).$$

Further, if $f^{(p)}$ exists and is continuous on $(a - \eta, b + \eta) \subset (0, 1), \eta > 0$, then (4.1) holds uniformly in $t \in [a, b]$.

Proof. We can expand f(u) as

$$f(u) = \sum_{i=0}^{p} \frac{f^{(i)}(t)}{i!} (u-t)^{i} + \varepsilon(u,t)(u-t)^{p},$$

where $\varepsilon(u, t) \to 0$ as $u \to t$ and is bounded and integrable on [0, 1].

In order to prove (4.1), it is sufficient to show that $\lim_{n\to\infty} D^p(M_n^r(f;t)) = f^{(p)}(t)$. Therefore, from the above expansion of f and the definition of M_n^r

$$D^{p}M_{n}^{r}(f;t) = \sum_{i=0}^{p} \frac{f^{(i)}(t)}{i!} \int_{0}^{1} W_{n}^{(p)}(s,t)M_{n}^{r-1}((u-t)^{i};s) ds + \int_{0}^{1} W_{n}^{(p)}(s,t)M_{n}^{r-1}(\varepsilon(u,t)(u-t)^{p};s) ds = I_{1} + I_{2}, \text{ say.}$$

Now

$$I_{1} = \sum_{i=0}^{p} \frac{f^{(i)}(t)}{i!} \sum_{j=0}^{i} {i \choose j} (-t)^{i-j} \int_{0}^{1} W_{n}^{(p)}(s,t) M_{n}^{r-1}(u^{j};s) ds$$
$$= \sum_{i=0}^{p} \frac{f^{(i)}(t)}{i!} \sum_{j=0}^{i} {i \choose j} (-t)^{i-j} D^{p} M_{n}^{r}(u^{j};t).$$

Since $M_n^r(u^j;t)$ is a polynomial in t of degree j and the coefficient of t^j is equal to $\prod_{i=1}^j \left((n-i+1)/(n+i+1) \right)^r$, which tends to 1 as $n \to \infty$, it follows that $I_1 \to f^{(p)}(t)$ as $n \to \infty$. Since $\varepsilon(u,t) \to 0$ as $u \to t$, for a given $\varepsilon' > 0$ we can find a $\delta > 0$ such that $|\varepsilon(u,t)| < \varepsilon'$ whenever $0 < |u-t| < \delta$, $\varepsilon(u,t)$ is bounded by some K > 0, say. Suppose $\chi(u)$ is the characteristic function of the interval $(t-\delta,t+\delta)$, then in view of Lemma 2

$$\begin{split} I_2 &= (n+1) \sum_{k=0}^n \int_0^1 \left(D^p \big(p_{n,k}(t) \big) \right) p_{n,k}(s) M_n^{r-1} \big(\varepsilon(u,t)(u-t)^p; s \big) \, \mathrm{d}s \\ &= (n+1) \sum_{k=0}^n \sum_{\substack{2i+j \leq p \\ i,j \geq 0}} \frac{n^i (k-nt)^j}{t^p (1-t)^p} \, q_{i,j,p}(t) p_{n,k}(t) \times \\ &\times \left(\int_0^1 p_{n,k}(s) M_n^{r-1} \big(\varepsilon(u,t)(u-t)^p \chi(u); s \big) \, \mathrm{d}s \right. \\ &+ \int_0^1 p_{n,k}(s) M_n^{r-1} \big(\varepsilon(u,t)(u-t)^p (1-\chi(u)); s \big) \, \mathrm{d}s \Big) \\ &= I_3 + I_4, \text{ say.} \end{split}$$

Let $C_1 = \sup_{\substack{2i+j \leq p \\ i,j \geq 0}} |q_{i,j,p}(t)/(t^p(1-t)^p)|$, applying SCHWARZ inequality three

times we get

$$|I_3| \le \varepsilon' C_1 \sum_{\substack{2i+j \le p\\i,j \ge 0}} n^i \left(\sum_{k=0}^n p_{n,k}(t) (k-nt)^{2j} \right)^{1/2} \times \left((n+1) \sum_{k=0}^n p_{n,k}(t) \int_0^1 p_{n,k}(s) M_n^{r-1} \left((u-t)^{2p}; s \right) \mathrm{d}s \right)^{1/2}$$

Now, it is known [3] that for $0 \le t \le 1$ and $m \in \mathbb{N}_0$,

(4.2)
$$\sum_{k=0}^{n} p_{n,k}(t)(k-nt)^{2j} = O(n^{j}).$$

Therefore, using Lemma 5 we get

(4.3)
$$I_3 = \varepsilon' O(1).$$

Again,

$$|I_4| \le \sum_{k=0}^n (n+1) \binom{k}{r} \sum_{\substack{2i+j \le p\\i,j \ge 0}} C_1 n^i p_{n,k}(t) |(k-nt)|^j \times \int_0^1 p_{n,k}(s) M_n^{r-1} \Big(|\varepsilon(u,t)| |(u-t)|^p \Big(1-\chi(u)\Big); s \Big) \, \mathrm{d}s.$$

Using SCHWARZ inequality, (4.2) and Lemma 5, for any integer s > p we obtain

$$\begin{aligned} |I_4| &\leq C_1 O(n^{p/2}) K \delta^{-s+p} \times \\ & \times \left((n+1) \sum_{k=0}^n p_{n,k}(t) \int_0^1 p_{n,k}(s) M_n^{r-1} \left((u-t)^{2s} \left(1 - \chi(u) \right); s \right) \mathrm{d}s \right)^{1/2} \\ &\leq K'(n^{(p-s)/2}). \end{aligned}$$

Therefore we have

(4.4)
$$I_4 = o(1).$$

As $\varepsilon' > 0$ is arbitrary, from (4.3) and (4.4) we see that $I_2 = o(1)$. Hence (4.1) follows from the estimates of I_1 and I_2 . The second assertion follows due to the fact that $\delta(\varepsilon')$ can be chosen independent of $t \in [a, b]$ and all the other estimates hold uniformly in [a, b].

In our next theorem we study an asymptotic result for $T_{n,k}$ in simultaneous approximation.

Theorem 4. Let $f \in L_B[0,1]$. If $f^{(2k+p)}(t)$ exists at the point $t \in (0,1)$, then we have

(4.5)
$$\lim_{n \to \infty} n^k \left(T_{n,k}^{(p)}(f;t) - f^{(p)}(t) \right) = \sum_{j=p}^{2k+p} Q_1(j,k,p,t) f^{(j)}(t),$$

where $Q_1(j,k,p,t)$ are certain polynomials in t. Further, if $f^{(2k+p)}$ is continuous in $(a - \eta, b + \eta) \subset (0,1), \eta > 0$, then (4.5) holds uniformly in [a,b].

Proof. By our hypothesis we can write

$$\begin{split} T_{n,k}^{(p)}(f;t) &= \sum_{r=1}^{k} (-1)^{r+1} \binom{k}{r} \int_{0}^{1} W_{n}^{(p)}(s,t) M_{n}^{r-1} \left(\sum_{i=0}^{2k+p} \frac{f^{(i)}(t)}{i!} (u-t)^{i} \right. \\ &+ \varepsilon(u,t)(u-t)^{2k+p}; s \bigg) \mathrm{d}s \\ &= I_{1} + I_{2}, \text{ say,} \end{split}$$

where $\varepsilon(u,t) \to 0$ as $u \to t$ and is bounded and integrable on [0,1].

On an application of Lemma 1 and Theorem 1 we obtain

$$\begin{split} I_1 &= \sum_{i=p}^{2k+p} \frac{f^{(i)}(t)}{i!} \sum_{\ell=0}^i {i \choose \ell} (-t)^{i-\ell} T^{(p)}_{n,k}(u^\ell;t) \\ &= \sum_{i=p}^{2k+p} \frac{f^{(i)}(t)}{i!} \sum_{\ell=0}^i {i \choose \ell} (-t)^{i-\ell} \left(D^p t^\ell + n^{-k} \sum_{j=1}^{2k} D^p \left(\frac{Q(j,k,t)}{j!} D^j t^\ell \right) + o(n^{-k}) \right) \\ &= f^{(p)}(t) + \sum_{i=p}^{2k+p} n^{-k} \sum_{\ell=0}^i {i \choose \ell} (-t)^{i-\ell} \frac{f^{(i)}(t)}{i!} \left(\sum_{j=1}^{2k} D^p \left(\frac{Q(j,k,t)}{j!} D^j t^\ell \right) \right) + o(n^{-k}) \\ &= f^{(p)}(t) + n^{-k} \sum_{j=p}^{2k+p} Q_1(j,k,p,t) f^{(j)}(t) + o(n^{-k}), \end{split}$$

where we used the identities $\sum_{\ell=0}^{i} (-1)^{\ell} {i \choose \ell} {\ell \choose p} = \begin{cases} 0, & i > p \\ (-1)^{p}, & i = p. \end{cases}$

To estimate
$$I_2 = \sum_{r=1}^{k} (-1)^{r+1} {k \choose r} \int_{0}^{1} W_n^{(p)}(s,t) M_n^{r-1} (\varepsilon(u,t)(u-t)^{2k+p};s) \, \mathrm{d}s,$$

proceeding as in the estimate of I_4 in Theorem 3, it follows that $n^k I_2 \to 0$ as $n \to \infty$. Hence, combining the estimates of I_1 and I_2 , (4.5) is established. The uniformity assertion follows as in Theorem 3.

Theorem 5. Let $p, q \in \mathbb{N}$, $p \leq q \leq 2k + p$ and $f \in L_B[0,1]$. If $f^{(q)}$ exists and is continuous on $(a - \eta, b + \eta) \subset (0,1)$, for some $\eta > 0$ then

(4.6)
$$||T_{n,k}^{(p)}(f;t) - f^{(p)}(t)|| \le \max\left\{C_1 n^{-(q-p)/2} \omega(f^{(q)}; n^{-1/2}), C_2 n^{-k}\right\},$$

where $C_1 = C_1(k, p), C_2 = C_2(k, p, f), \|\cdot\|$ is the sup-norm on [a, b] and the modulus of continuity of $f^{(q)}$ on $(a - \eta, b + \eta)$ is $\omega(f^{(q)}; n^{-1/2})$.

Proof. By our hypothesis, we may write for all $u \in [0, 1]$ and $t \in [a, b]$

$$(4.7) \ f(u) = \sum_{i=0}^{q} \frac{f^{(i)}(t)}{i!} (u-t)^{i} + \frac{f^{(q)}(\xi) - f^{(q)}(t)}{q!} (u-t)^{q} \chi(u) + F(u,t) (1-\chi(u)),$$

where $\chi(u)$ is the characteristic function of $(a - \eta, b + \eta)$, ξ lies between u and t and F(u, t) is defined as $F(u, t) = f(u) - \sum_{i=0}^{q} \frac{f^{(i)}(t)}{i!} (u - t)^{i}$, $\forall u \in [0, 1]$ and $t \in [a, b]$.

The function F(u,t) is bounded by $M|u-t|^q$ for $t \in [a,b]$ and M is some positive number. Now operating by $T_{n,k}^{(p)}$ on both sides of (4.7) and breaking the right hand side into three parts I_1, I_2 and I_3 say, corresponding to the three terms on the right hand side of (4.7), we get

$$T_{n,k}^{(p)}(f;t) - f^{(p)}(t) = I_1 + I_2 + I_3$$
, say.

Now,

$$I_1 = \sum_{i=1}^{q} \sum_{j=0}^{i} (-t)^{i-j} {i \choose j} \frac{f^{(i)}(t)}{i!} T_{n,k}^{(p)}(u^j;t).$$

Proceeding as in the estimate of I_1 of Theorem 4

$$I_{1} = \sum_{i=1}^{q} \sum_{j=0}^{i} (-t)^{i-j} {i \choose j} \frac{f^{(i)}(t)}{i!} D^{p} \left(t^{j} + n^{-k} \left(\sum_{r=1}^{2k} D^{p} \left(\frac{Q(r,k,t)}{r!} D^{r} t^{j} \right) + o(n^{-k}) \right) \right)$$

= $O(n^{-k})$, uniformly in $t \in [a,b]$.

Next, applying Lemma 2,

$$\begin{aligned} |I_2| &\leq \frac{\omega(f^{(q)};\delta)}{q!} \sum_{r=1}^k \binom{k}{r} (n+1) \sum_{v=0}^n \sum_{\substack{2i+j \leq p \\ i,j \geq 0}} n^i p_{n,v}(t) \frac{|q_{i,j,p}(t)|}{t^p (1-t)^p} |v - nt|^j \times \\ &\times \int_0^1 p_{n,v}(s) M_n^{r-1} \Big(|u - t|^q \big(1 + |u - t|/\delta \big); s \Big) \, \mathrm{d}s. \end{aligned}$$

Let $C' = \sup_{\substack{2i+j \leq p\\i,j \geq 0, t \in [a,b]}} |q_{i,j,p}(t)/(t^p(1-t)^p)|$. Using SCHWARZ inequality,

(4.2) and Lemma 5 we obtain $|I_2| \leq C' \omega(f^{(q)}; \delta) (O(n^{-(q-p)/2}) + O(n^{-(q+1-p)/2}))$, uniformly in $t \in [a, b]$.

Choosing $\delta = n^{-1/2}$, it follows that $I_2 = \omega(f^{(q)}; n^{-1/2})O(n^{-(q-p)/2})$ uniformly in $t \in [a, b]$. Lastly, to estimate $I_3 = T_{n,k}^{(p)}(F(u, t)(1 - \chi(u)); t)$, proceeding in a manner similar to the estimate of I_4 in Theorem 3, it follows that $I_3 = O(n^{(p-s)/2})$, where s is an integer greater than 2k + p + 2. Thus $I_3 = o(n^{-(k+1)})$, uniformly in $t \in [a, b]$.

Combining the estimates of I_1, I_2 and I_3 , (4.6) is established. This completes the proof.

Acknowledgments. The authors are extremely thankful to the referee for his comments and suggestions which lead to a better presentation of the paper.

The second author is thankful to the "Council of Scientific and Industrial Research", New Delhi, India for providing financial support to carry out the above work.

REFERENCES

- P. N. AGRAWAL, VIJAY GUPTA: A saturation theorem for combinations of Bernstein-Durrmeyer polynomials. Anal. Polon. Math., LVII, No. 2 (1992), 157–164.
- M. DERRIENNIC: Sur l'approximation de fonctions integrable sur 0, 1] par des polynomes de Bernstein modifies. J. Approx. Theory, **31** (1981), 325–343.
- Z. DITZIAN, K. IVANOV: Bernstein-type operators and their derivatives. J. Approx. Theory, 56 (1989), 72–90.
- 4. J. L. DURRMEYER: Une formule d'inversion de la transformee de Laplace: Applications a la Theorie des moments. These de 3e cycle, Faculte des Sciences de l'Universite de Paris (1967).
- 5. H. H. GONSKA, XIN-LONG ZHOU: A global inverse theorem on simultaneous approximation by Bernstein-Durrmeyer operators. J. Approx. Theory, 67 (1991), 284–302.
- H. S. KASANA, P. N. AGRAWAL: On sharp estimates and linear combinations of modified Bernstein polynomials. Bull. Soc. Math. Belg. Ser. B 40 (1) (1988), 61–71.
- 7. G. G. LORENZ: Bernstein Polynomials. Toronto Press, Toronto (1953).
- C. A. MICCHELLI: The saturation class and iterates of Bernstein polynomials. J. Approx. Theory, 8 (1973), 1–18.
- B. WOOD: L_p-approximation by linear combinations of integral Bernstein-type operators. Anal Numer. Theor. Approx. 13 (1) (1984), 65–72.

(Received May, 29 2006)

Department of Mathematics, Indian Institute of Technology, Roorkee-247667, India E-mail: pna iitr@yahoo.co.in, ashagairola@yahoo.co.in